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Answer all FIVE FULL Questions MARKS
1 Derive an expression for input impedance, output impedance, voltage gain and  [10] |Co0 | L2
current gain for voltage divider bias CE amplifier using re model.
(OR)
Derive an expression for input impedance, output impedance, voltage gain and  [10] |CO1} 12
current gain of an un-bypassed Rg CE amplifier using re model.
2 Derive an expression for input impedance, output impedance, voltage gain and [1o] (Con | L2
currenl gain for Fixed bias Configuration using approximate hybnd model.
(OR)
Derive an expression for current gain, voltage gain, input impedance and output  [10] | CO1| L2
impedance of transistor amplifier using h-parameters. ( Complete Hybrid model)
3 For the nerwork shown in Fig. 1 determine, (with r,=x 1) [1a | COI| L3
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Fig: ]
4 Find input impedance, ouiput impedance, voliage gain and current gain of emitier (ra] oo L3
follower conficumation where V=10V, Reg=100K0, Re=1K0, h=1.1KL0},

II'_'
he=100. Use approximate hybrid equivalent model
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5 (a) Calculate DC bias voltapes and currents for the Darlinpton confipuration shown
in Fig 2
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Fig: 2
(b) Calculate the output voltage (V,) and Zener current in the regulator circuit shown
inFig3 for R; = | kL
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